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IZACA 23.4 E & 16.0 1,296 — 1,188 10 vay L
ZIES5 3.6 BERE 3.2 4,320 — 3,780 0] A 2M
ZIES5 N 0.2 2,106 — 1,944 3 A L
[E<ELY 25.4 ERE 24.1 648 — 540 15[ A L
HTE 1.4 BERE 0.7 2,160 1,296 1,188 4f A M
—EO1 6.8 ERE 5.4 1,836 1,080 972 4l A M
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Fry = I 427 — 108 — 0] A 4L
IE5NAZES 3.3 BERE 1.6 2,376 2,160 1,728 4f A M
hE 9.4 ERE 4.1 1,836 1,404 1,404 6] A LL
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125 3.3 =0 1.3 2,700 1,890 1,620 5] vay
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Joyal)— 22.9 K B 25 2,808 2,376 1,512 0] A 20
LARZR 45.2 E & 26.1 972 702 540 10 12
FoTHA 1.1 BRE 0.7 1,728 1,296 1,080 4f A L
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el N 7.7 1,404 — 1,080 4 vay 24
I=kTh 6.6 BRE 5.4 130 97 86 02 A M
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ERAY 4.7 BERE 1.1 2,808 — 2,700 5] vay L
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